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iw.kkZad % 75        le; & 03 ?k.Vs 
Max. Marks : 75       Time : 03 Hours   
uksV %& 1- lHkh iz’u vfuok;Z gSA 
  2- iz’u Øekad 1 oLrqfu"B iz’u gSA blesa rhu [k.M ^v*] ^c* vkSj ^l* gSA izR;sd 
         [k.M esa 05 iz’u gS rFkk gj iz’u ij 01 vad vkcafVr gSA 

1. All Question are compulsory. 
2. Question number 01 is Objective type. It contains three sections ‘A’, ‘B’ and ‘C’. Each  

section has 05 question and each section carries 01 marks. 
 

Section “A” 

iz’u Øekad 1A %& bl [k.M esa ikap cgqfodYih; iz’u gSA mlesa ls izR;sd dk lgh fodYi 

                 pqudj fyf[k,A 

    In this section 05 multiple choice questions choose correct alternatives of each 

                             and write 

      (a) Na, Li, K ds vkdkj dk ?kVrk gqvk Øe gksxk %& 

     ¼i½ Li > Na > K   ¼ii½ K > Na > Li 

       ¼iii½ Na > Li > K   ¼iv½ buesa ls dksbZ ugha 

     Decreasing order on the basis of size of Na, Li, K will be : 

       ¼i½ Li > Na > K   ¼ii½ K > Na > Li 

       ¼iii½ Na > Li > K   ¼iv½ None of these 

    (b) fuEufyf[kr vkDlkbM esa ls fdldk tyh; foy;u vEyh; gksxk %& 

     ¼i½ Na2o    ¼ii½ Co2 

       ¼iii½ Mgo    ¼iv½ H2o 

    Whose aquatic solution will be acidic from the following oxide: 

       ¼i½ Na2o    ¼ii½ Co2 

       ¼iii½ Mgo    ¼iv½ H2o 

    (c) ,slhfVd vEy dk IUPAC uke gS %&  

     ¼i½ esFksukWy   ¼ii½ ,FksukWy 

       ¼iii½ ,FksukWbd vEy  ¼iv½ esFksukWbd vEy 

    IUPAC name of acetic acid is: 

       ¼i½ Methanol   ¼ii½ Ethanol 

       ¼iii½ Ethonoic acid   ¼iv½ Methanoic acid 



(d) rki 27åC dk dsfYou iSekus esa eku gksxk %&  

     ¼i½ 270 K    ¼ii½ 273 K 

       ¼iii½ 300 K   ¼iv½ 27 K 

    In Kelvin scale the value of temperature 27åC will be :- 

       ¼i½ 270 K    ¼ii½ 273 K 

       ¼iii½ 300 K   ¼iv½ 27 K 

(e) ;fn oLrq lery niZ.k ls 5 cm dh nwjh ij gks rks izfrfcac dh oLrq ls nwjh 

    gksxh %&  

     ¼i½ 4 lseh0   ¼ii½ 10 lseh0 

       ¼iii½ 5 lseh0   ¼iv½ 20 lseh0 
    If an object is 5 cm away from plane mirror then the distant of image from object  

                            will be :- 

       ¼i½ 4 cm    ¼ii½ 10 cm 

       ¼iii½ 5 cm    ¼iv½ 20 cm 

Section “B” 

iz’u Øekad 1B %& bl [k.M esa ikap ¼5½ fjDr LFkku okys iz’u gSA bu fjDr LFkkuksa dh iwfrZ  

                 dhft,A 

      In this section five (5) fill in the blanks type question complete fill in the blanks 

                                in it. 

      (a) 10 vkse ds rhu izfrjks/k Js.khØe esa tksM+s x;s gS] rqY; izfrjks/k dk eku 

       --------------- vkse gksxkA 

    Three resistance of 10 Ohms are connected in series, then value of equivalent 

                            resistance will be ………….. ohms 

      (b) ;fn fdlh cM+s bykds ls lkjs dhVHk{kh fpfM+;k lekIr dj nh tk, rks 

      ------------- dk izdksi c<+ tk,xkA 

    If in a big area, all insectivores birds are destroyed then infestation of ………….  

                            will increase. 

      (c) y{k.kksa dk ih<+h nj ih<+h igq¡puk ------------------------ dgykrk gSA 

     Transference of characters from generation to generation is called ……………. 

      (d) òDd dh bdkbZ ------------------------ gSA 

     Unit of kidney is ……………………….  

      (e) lery niZ.k }kjk cuk izfrfcac lh/kk] vkHkklh vkSj --------------- gksrk gSA 

       Image formed by plane mirror is straight, virtual and ………………. 



Section “C” 

iz’u Øekad 1C %& mfpr laca/k tksfM+, %& 

      Match the following :- 

             A     B 

  1- ikjk     ,0 th0 Vsalysa 

 2- lksfM;e gkbMªkDlkbM  mtkZ dk Jksr 

 3- Mk;useks    jksxk.kq uk’kh 

 4- fojatd pw.kZ   {kkj 

 5- ikfjfLFkrd ra=   /kkrq 

      vEy 

      v/kkrq 

  A    B 

 1. Mercury    A. G. Tansley 

 2. Sodium Hydroxide   Source of energy 

 3. Dynamo    germicides 

 4. Bleaching Powder   Metal 

 5. Ecosystem    Alkali 

      Acid 

      Non-metal 

 iz’u Øekad 2 ls 6 rd ds iz’u vfry?kqmÙkjh; iz’u gS izR;sd iz’u ij 2 ¼nks½ 

          vad fu/kkZfjr gSA mÙkj dh vf/kdre 'kCn lhek 30 gSA 

Instruction:- Question No.2 to 6 are very short answer type question. Each question carries 2 

                    marks. Maximum word limit for answer is 30 words. 

iz’u Øekad 2 %& vkidks nks ij[kufy;k¡ nh xbZ gSaA buesa ls ,d esa vEyh; rFkk nwljs esa 
{kkjh; foy;u gSA ;fn vkidks dsoy yky fyVel i= fn;k x;k gS rks 
vki izR;sd ij[kuyh esa j[ks x, foy;u dh izd`fr dh igpku dSls 
djsaxsaA 

   ¼1$1½ 

You are been provided two test tubes. Out of which one has acidic solution and 
other has alkaline solution. You are given only Red litmus paper, then how will 
you identify the nature of solution of each test tube? 

iz’u Øekad 3 %& IykLVj vkWQ isfjl dk jklk;fud lw= fyf[k, ,oa blds dksbZ 2 mi;ksx 
fyf[k,A         ¼1$1½ 

      Write the chemical formula of plaster of Paris and its any two uses. 



iz’u Øekad 4 %& ukfHkdh; lay;u ,oa ukfHkdh; fo[k.Mu esa dksbZ 2 varj fyf[k,A ¼1$1½ 

      Write any two differences between nuclear fusion and nuclear fission.   

iz’u Øekad 5 %& fdUgh pkj uj tuu vaxks ds uke fyf[k,A    ¼½X4½ 

      Write the name of any four reproductive organ of male.   

iz’u Øekad 6 %& ikfjfLFkfrd fijkfeM fdls dgrs gS\      ¼2½ 

      What is called Ecological pyramid?  

 iz’u Øekad 7 ls 10 rd ds iz’u vfry?kqmÙkjh; iz’u gS izR;sd iz’u ij 3 ¼rhu½ 

          vad fu/kkZfjr gSA mÙkj dh vf/kdre 'kCn lhek 50 gSA 

Instruction:- Question No.7 to 10 are very short answer type question. Each question carries 3 

                    marks. Maximum word limit for answer is 50 words. 

iz’u Øekad 7 %& 1 fd0xzk0 ty dk rki 80å
C gSA ;fn bls 40åC okys 1Kg ty esa fefJr 

dj ns arks feJ.k dk rki Kkr dhft,A       ¼3½ 

 The temperature of 1kg water is 80
å
c. if it is mixed with 40

å
c temperature of 

water of 1kg then find out the temperature of the mixture. 

 iz’u Øekad 8 %& mÙky ySa, ,oa vory ySal esa dksbZ rhu varj fyf[k,A     ¼3½ 

 Write any three differences between convex and concave lens.  

iz’u Øekad 9 %& ¶ysafeax dk ckW, gkFk dk fu;e fyf[k,A       ¼3½ 

 Write flemings left hand rule.  

iz’u Øekad 10 %& thoksa ds fodkl esa p;u ,oa vuqdwyu dh D;k Hkwfedk gS\ le>kb,A 

              ¼3½ 

 What is the role of selection and adaptation in evolution of organisms?expalin.  

 iz’u Øekad 11 ls 14 rd ds iz’u y?kqmÙkjh; iz’u gS izR;sd iz’u ij 4 ¼pkj½ 
vad fu/kkZfjr gSA izR;sd iz’u esa vkarfjd fodYi fn, x, gSA mÙkj dh vf/kdre 
'kCn lhek 75 gSA 

Instruction:- Question No.11 to 14 are short answer type question. Each question carries 4               
marks. In each question internal choice are given. Maximum word limit for answer 
is 75 words. 

iz’u Øekad 11 %& bZ’kk us pkj foy;u A, B, C, D dh lkoZf=d lwpd ls tkap dh] rc PH 
eku Øe’k% 7] 14] 1] 6 izkIr gq,A bl vk/kkj ij crkb;s fd dkSu lk 
foy;u %           ¼1$1$1$1½ 

 ¼i½ izcy {kkjh; gS ¼ii½ nqcZy vEyh; gS ¼iii½ izcy vEyh; gS 

 ¼iv½ mnklhu gS 

 Isha tested A, B, C, D Solution from Universal indicator and find PH value 
7,14,16 respectively. On this basis, tell about the solution; which one is 

(i) Strong Alkali    (ii) Weak Acid (iii) Strong Acid (iv) Neutral  



vFkok@OR 

       ,d rRo dk bysDVªkWfud foU;kl 2]8]6 gSA fyf[k, fd  

 ¼i½ ;g rRo fdl oxZ dk gS  ¼ii½ ;g rRo fdl vkorZ dk gS 

 ¼iii½ bl rRo dh la;kstdrk D;k gksxh  

¼iv½ bl rRo esa izksVkuks dh la[;k D;k gksxhA 

 Electronic configuration of an element is 2,8,6  Write : 

(i) Element belong to which group 
(ii) element belong to which period 
(iii) What will be the valency of element 
(iv) What will be No of protons in the element 

iz’u Øekad 12 %& f’kf’kj ds ikl nks foy;u ,FkukWy vkSj ,FksykWbd vEy FksA mlus nksuks 
foy;u esa lksfM;e dk VqdM+k Mkyk vkSj ns[kk fd ,d xSl fudy jgh gS 
ftlds ikl ekfpl dh ¼tyrh½ rhyh ys tkus ij ikWi dh vkokt vkrh 
gSA bu fØ;kvksa dks jklk;fud lehdj.k }kjk n’kkZb,A     ¼4½ 

 Shishir had two solutions of ethanol and ethenoic acid. He dropped a piece of 
sodium and saw that a gas is coming out and brought a burning match stick & 
found a pop sound comes. show these reactions with the help of chemical 
equation.   

vFkok@OR 

lksfM;e  dk ,d ;kSfxd ‘X’ lQsn jax dk pw.kZ gS rFkk ;g csafdx ikmMj 
dk ,d ?kVd gksrk gSA tc ‘X’ dks xeZ djrs gS rks ,d xSl ‘Y’ mRiUu 
gksrh gS tks pwus ds ikuh dks nwf/k;k dj nsrh gS &       ¼3$1½ 

¼i½ xeZ djus ij gksus okyh fo;kstu vfHkfØ;k dk jklk;fud lehdj.k 
fyf[k,A 

¼ii½ ‘X’ dk mi;ksx izfr vEy ds :i esa D;ksa fd;k tkrk gSA 

 Compound of sodium is ‘X’ white colored powder and it is a component of 
baking powder. when “X” is heated them “Y” gas is evolved which turns lime 
water  milky :- 

(i) Write the chemical equation of dissociation reaction on heating. 
(ii) Why “x” is used as antacid?  

iz’u Øekad 13 %& letkr vax ,oa leòfÙk vax D;k gS\ mnkgj.k nsdj Li"V dhft,A 

   ¼4½ 
      What are homologous and Analogous organs? Explain with examples. 

 vFkok@OR 

         euq"; esa fyax fu/kkZj.k dh izfØ;k dks fyf[k,A 

      Write the process of sex determination in man. 

iz’u Øekad 14 %& ^^ikS/ks izdk’k ds izfr laosnh gksrs gS**] D;k vki bl dFku ls legr gS\ 



                  D;ksa ;k D;ksa ughaA          ¼4½ 

      “Plants are sensitive toward light.” Do you agree with this statement? why or   
                                  why not? 

 vFkok@OR 

         ^^f’kjkvksa ls ges'kk vukWDlhd`r jDr dk cgko ugha gksrk** D;k vki bl 

                 dFku ls lger gS\ D;ksa ;k D;ksa ugha\ 

      “Deoxygenated blood does not flow always in the veins” do you agree with this 

                                 statement? why or why not?  

 iz’u Øekad 15 ls 16 rd ds iz’u nh?kZmÙkjh; iz’u gS izR;sd iz’u ij 5 ¼ikap½ 
vad fu/kkZfjr gSA izR;sd iz’u esa vkarfjd fodYi fn, x, gSA mÙkj dh vf/kdre 
'kCn lhek 100 gSA 

Instruction:- Question No.15 to 16 are Long answer type question. Each question carries 5               
marks. In each question internal choice are given. Maximum word limit for answer 
is 100 words. 

iz’u Øekad 15 %& ,d eNyh rkykc dh lrg ls 75 lseh- xgjkbZ ij izrhr gksrh gS] rks 
lrg ls mldh okLrfod xgjkbZ Kkr dfj,A      ¼5½ 

 ¼fn;s x;k gS ty dk viorZukad 4/3½ 

A fish seems to be at the depth of 75cm from the surface of a pond, them find 
out it actual depth. (Given – Refractive Index of water 4/3) 

 vFkok@OR 

izdk’k ok;q ls 1-50 viorZukad okys dkap IysV esa izos’k djrk gSA dkap esa 
izdk’k dh pky Kkr dhft,A ¼fn;k gS fuokZr esa izdk’k dh pky 3x108 
eh0@ls0½ 

Light enters form air to glass plate of 1.5 refractive index. find out the speed of 
light in glass. (Given – speed of light in vacuum – 3x108m/sec.)  

iz’u Øekad 16 %& fo|qr eksVj dk o.kZu fuEukafdr 'kh"kZdks ds varxZr dhft, %& 
                ¼i½ ukekafdr vkjs[k ¼ii½ fl)kar ¼iii½ dk;Z fof/k 
                ¼nf̀"Vckf/kr Nk= ukekafdr vkjs[k ds LFkku ij fo?kqr eksVj ds cukoV ds 

fofHkUu Hkkxksa ds uke fy[ksxsaA½     ¼2$1$2½ 
Describe electric motor under the following heads :- 
(i) Labelled sketch (ii) Principle (iii) working mechanism 
(Visually impaired student will write parts names of various parts of electric 
motor in place of labelled sketch)  

 vFkok@OR 

iz;ksx’kkyk esa vkse ds fu;e ds lR;kiu dk o.kZu fuEu fcUnqvksa ds varxZr 
dhft, %& 
¼i½ fu;e  ¼ii½ fo|qr ifjiFk ¼iii½ voyksdu lkfj.kh 
¼nf̀"V ckf/kr Nk= fo|qr ifjiFk ds LFkku ij iz;ksx lacaf/kr nks lko/kkuh 
fy[kasxsA½ 



Describe the verification of ohm’s law in the laboratory under the following 
points; 

(i) Law  (ii) Electric circuit (iii) Observation table 

(Visually impaired student will write two precautions related to experiment in 
place of electric circuit)  

 iz’u Øekad 17 ls 18 rd ds iz’u nh?kZmÙkjh; iz’u gS izR;sd iz’u ij 6 ¼N%½ 
vad fu/kkZfjr gSA izR;sd iz’u esa vkarfjd fodYi fn, x, gSA mÙkj dh vf/kdre 
'kCn lhek 150 gSA 

Instruction:- Question No.17 to 18 are Long answer type question. Each question carries 6               
marks. In each question internal choice are given. Maximum word limit for answer 
is 150 words. 

iz’u Øekad 17 %& ¼a½ tax yxus ds fo?kqr jklk;fud fl)kar le>kb;s      ¼3½ 

                 ¼b½ D;k gksxk tc larqfyr lehdj.k fyf[k, %&  

                 ¼i½ iksVsf’k;e ijeSaxusV dks xeZ djus ij    ¼1½$1½½ 

 ¼ii½ dkcZu dh vkDlhtu ds lkFk fØ;k 
(a) Explain the electro chemical principle of rusting. 
(b) write balanced equation for; what will happen :- 
(i) when potassium permanganate is heated. 
(ii) Reaction of carbon with oxygen.  

 vFkok@OR 

¼a½ vkidks dksbZ rRo fn;k x;k gS] vki dSls igpkusxs fd og /kkrq gS ;k 
v/kkrq\ rhu rjhds fyf[k,A        ¼3½ 

¼b½ fuEu vfHkfØ;k ds fy, larqfyr lehdj.k fyf[k,  ¼1½$1½½ 

¼i½ ,Y;qfefu;e dh tyok"i ls vfHkfØ;k 

¼ii½ ftad vkDlkbM dh lksfM;e gkbMªkDlkbM ls vfHkfØ;k 
(a) You are given any element, how will you identify that given element is a 

metal or Non-metal? Write three methods. 

(b) Write the balance equation for the following reaction. 

 (i) Reaction of aluminum with water vapour. 

(ii) Reaction of sodium hydroxide with zinc oxide.  

iz’u Øekad 18 %& ¼a½ f’kjkvksa esa dikV ik, tkrs gS] /kefu;ksa esa ugha D;ksa\      ¼3½ 

                 ¼b½ vkek’k; esa Jkfor HCL ds dksbZ rhu dk;Z fyf[k;sA      ¼3½  
(a) Veins have valves but arteries do not have why?   
(b) Write any three functions of HCl secreted by stomach. 

vFkok@OR 

¼a½ fi;w"k xzafFk dks ekLVj xazfFk dgrs gSa D;ksa\       

¼b½ eknk esa dksbZ rhu f}rh;d ySafxd y{k.k fyf[k,A   
(a) Pituitary gland is called master gland. Why? 
(b) Write any three secondary sexual characters of female. 



II 

 

iw.kkZad % 75        le; & 03 ?k.Vs 
Max. Marks : 75       Time : 03 Hours   
uksV %& 1- lHkh iz’u vfuok;Z gSA 
  2- iz’u Øekad 1 oLrqfu"B iz’u gSA blesa rhu [k.M ^v*] ^c* vkSj ^l* gSA izR;sd 
         [k.M esa 05 iz’u gS rFkk gj iz’u ij 01 vad vkcafVr gSA 

1. All Question are compulsory. 
2. Question number 01 is Objective type. It contains three sections ‘A’, ‘B’ and ‘C’. Each  

section has 05 question and each section carries 01 marks. 
 

Section “A” 

iz’u Øekad 1A %& bl [k.M esa ikap cgqfodYih; iz’u gSA mlesa ls izR;sd dk lgh fodYi 

                 pqudj fyf[k,A 

     In this section 05 multiple choice questions choose correct alternatives of each 

                             and write 

      (a) Na, Li, K ds vk;uu mtkZ dk c<+rk gqvk Øe gksxk %& 

     ¼i½ Li < Na < K   ¼ii½ K < Na < Li 

       ¼iii½ Na < Li < K   ¼iv½ Na > Li > K 

     Increasing order of ionization energy of Na, Li, K will be : 

       (i) Li < Na < K   ¼ii½ K < Na < Li 

       ¼iii½ Na < Li < K   ¼iv½ Na > Li > K 

          (b) fuEufyf[kr vkDlkbM esa ls fdldk tyh; foy;u {kkjh; gksxk %& 

     ¼i½ NO    ¼ii½ CO2 

       ¼iii½ MgO    ¼iv½ H2O 

    Which oxide will have aquatic alakine solution from the following : 

       ¼i½ NO    ¼ii½ CO2 

       ¼iii½ MgO    ¼iv½ H2O 

    (c) ,fFky ,sYdksgy dk IUPAC uke gS %&  

     ¼i½ ,FksuksbZd vEy  ¼ii½ ,Fkuky 

       ¼iii½ esFksuky   ¼iv½ esFksuksbZd vEy 

    IUPAC name of Ethyl alcohol is: 

       ¼i½ Ethenoic Acid   ¼ii½ Ethenol 

       ¼iii½ Methenol   ¼iv½ Methonoic acid 



(d) 400 K dk lsfYfl;l iSekus esa rkieku gksxk %&  

     ¼i½ 27åC    ¼ii½ 100åC 

       ¼iii½ 127åC    ¼iv½ 200åC 

    Temperature of 400K will be in Celsius scale :- 

       ¼i½ 27åC    ¼ii½ 100åC 

       ¼iii½ 127åC    ¼iv½ 200åC 

   (e) MN lery niZ.k esa vkifrr fdj.k niZ.k ds lkFk 30åC dk dks.k cukrh gS 

   rks ijkorZu dks.k dk eku gksxk %& 

 
     ¼i½ 30å    ¼ii½ 45å 

       ¼iii½ 60å    ¼iv½ 90å 

Incident ray forms 30å angle with plane mirror at MN surface. Them angle of 

reflection will be: 

       ¼i½ 4 cm    ¼ii½ 10 cm 

       ¼iii½ 5 cm    ¼iv½ 20 cm 

Section “B” 

iz’u Øekad 1B %& bl [k.M esa ikap ¼5½ fjDr LFkku okys iz’u gSA bu fjDr LFkkuksa dh iwfrZ  

                 dhft,A 
      In this section five (5) fill in the blanks type question complete fill in the blanks 

                                in it. 

      (a) ,d ifjiFk esa 10Ω vkse ds ikap izfrjks/k lekukarj Øe esa tksM+s x;s gS 

      rks ifjiFk dk rqY; izfrjks/k ------------------------ gksxkA 

In a circuit five resistance of 10Ω ohm are connected in parallel order. Then 
equivalent of the circuit will be ……………… 

      (b) dhVuk’kh nokvksa ds iz;ksx ls ;fn gj /kku ds ikS/ks ij 0-01 
feyhxzkevklsZfud tek gks tkrk gS rks 30 /kku ds ikS/kksa ij ---------------- 
feyhxzke vklsZfud tek gksxkA 

If 0.01 milegram arsenic is deposited on each paddy plant while using 
insecctiside. then ………….. miligram arsenic will be deposit on 30 paddy 
plants. 

      (c) fldy lsy -------------------------------- dh ,d y{k.k gSA 

      Sickle cell ……………… is a characteristics. 



      (d) vkek’k; dh vkarfjd f>Yyh ----------------- vEy ls lqjf{kr jgrh gSA 

      Internal membrane of stomach is protected by ………. acid. 

      (e) mÙky niZ.k }kjk cuk izfrfcac lh/kk vkHkklh vkSj --------------- gksrk gSA 

       Image formed by convex mirror is erect virtual and …………….. 

Section “C” 

iz’u Øekad 1C %& mfpr laca/k tksfM+, %& 

       Match the following :- 

             A     B 

  1- ,fuey bZdkykWth   ty 

 2- Dyksfju    ty dh dBksjrk nwj djuk 

 3- xa/kdkEy    v/kkrq 

 4- /kkou lksMk   pkYlZ ,YVu 

 5- fo|qr    vEy 

      {kkj 

      /kkrq 
  A    B 

 1. Animal Ecology   Water 

 2. Chlorine    Remove hardness of water 

 3. Sulphuric acid   Non metal 

 4. Washing soda   Charles alton 

 5. Electricity    Acid  

      Base 

      Metal 

 iz’u Øekad 2 ls 6 rd ds iz’u vfry?kqmÙkjh; iz’u gS izR;sd iz’u ij 2 ¼nks½ 

          vad fu/kkZfjr gSA mÙkj dh vf/kdre 'kCn lhek 30 gSA 

Instruction:- Question No.2 to 6 are very short answer type question. Each question carries 2 

                    marks. Maximum word limit for answer is 30 words. 

iz’u Øekad 2 %& yrk us rkts nw/k esa [kkus dk lksMk feykdj mldk PH eku 6 ls cnydj 
8 dj fn;kA bl nw/k ls ngh cuus esa vf/kd le; yxsxk D;ksa\ 

Lata has increased PH value of fresh milk by adding Baking soda with from 6 
to 8. More time will required from this milk to change it into curd why? 

iz’u Øekad 3 %& [kkus ds lksMk dk jklk;fud lw= fy[kdj nks mi;ksx fyf[k,A ¼1$1½ 

Write the chemical formula and two uses of Baking soda. 

 



iz’u Øekad 4 %& mtkZ ds ijEijkxr vkSj xSj ijEijkxr lzksrks esa dksbZ nkss varj fyf[k,A 

           ¼1$1½ 

Write any two differences between the sources of traditional and non- 
traditional energy. 

iz’u Øekad 5 %& eknk tuu vaxksa ds dksbZ pkj uke fyf[k,A    ¼½X4½ 

Write the name of any four female reproductive organs. 

iz’u Øekad 6 %& izkFkfed miHkksDrk D;k gSA      ¼02½ 

What are primary Consumers. 

 iz’u Øekad 7 ls 10 rd ds iz’u vfry?kqmÙkjh; iz’u gS izR;sd iz’u ij 3 ¼rhu½ 

          vad fu/kkZfjr gSA mÙkj dh vf/kdre 'kCn lhek 50 gSA 

Instruction:- Question No.7 to 10 are very short answer type question. Each question carries 3 

                    marks. Maximum word limit for answer is 50 words. 

iz’u Øekad 7 %& rkacs ds ,d rkj dh yackbZ 200cm. gSA blds rki dks 30
å
c ls 40

å
c rd 

c<+kus ij rkj dh yackbZ esa fdruh òf) gksxh ;fn rkj dk js[kh; izlkj 
xq.kkad 26X 10-6 izfr åc gksrk gSA          ¼3½ 

 How much length will be increased in a copper wire whose length is 200cm. 

while raising its temperature from 30
å
c to 40

å
c (If linear coefficient is of wire 

is expansion 26X 10-6 per c
å
) 

iz’u Øekad 8 %& mÙky niZ.k vkSj vory niZ.k esa dksbZ rhu varj fyf[k,A     ¼3½ 

 Write any three differences between convex and concave mirror. 

iz’u Øekad 9 %& ¶ysfeax dk nkfgus gkFk dk fu;e fyf[k,A       ¼3½ 

 Write the fleming right hand rule. 

iz’u Øekad 10 %& thoksa ds fodkl ds fl)kar ds rhu eq[; fcanq fyf[k,A     ¼1x3½ 

 Write three main prints of principles of biological evolution. 

 iz’u Øekad 11 ls 14 rd ds iz’u y?kqmÙkjh; iz’u gS izR;sd iz’u ij 4 ¼pkj½ 
vad fu/kkZfjr gSA izR;sd iz’u esa vkarfjd fodYi fn, x, gSA mÙkj dh vf/kdre 
'kCn lhek 75 gSA 

Instruction:- Question No.11 to 14 are short answer type question. Each question carries 4               
marks. In each question internal choice are given. Maximum word limit for answer 
is 75 words. 

iz’u Øekad 11 %& PH fdls dgrs gS\ nSfud thou esa mldk egRo rhu fcUnqvksa ij 
fyf[k,A            ¼1$3½ 

 What is called PH value? Write its importance in three points in daily life. 

vFkok@OR 



vk/kqfud vkorZ fu;e fyf[k,A vk/kqfud vkorZ lkj.kh dh rhu fo’ks"krk,¡ 
fyf[k,A            ¼1$3½ 

 Write modern periodic law? Write three characteristics of modern periodic 
table.    

iz’u Øekad 12 %& dSfY’k;e dk ,d ;kSfxd tks ihykiu fy, gq, lQsn jax dk inkFkZ gS] 
dk mi;ksx oLrq m|ksx vkSj jks.kk.kquk’kd ds :i esa fd;k tkrk gSA 

    ¼a½ bl ;kSfxd dk uke o lw= fyf[k,A 

    ¼b½ bl ;kSfxd dks ok;q esa [kqyk NksM+us ij dkSu lh xSl eqDr gksrh gS] 
vfHkfØ;k dk jklk;fud lehdj.k fyf[k,A    ¼2$2½ 

 Calcium compound which a yellowish , white colored matter is used in textile 
industry and as germicides. 

(a) Write the name and formula of this compound. 
(b) Which gas is released if their compound is left free in open air. write the 

chemical equation of this reaction.  

vFkok@OR 

eksgu ds ikl ,FksukWy vkSj ,Fksuksbd vEy nks chdj esa j[ks Fks fdUrq og 
chdjksa ij ;kSfxd dk uke fy[kuk Hkwy x;k vc eksgu dkSu lk iz;ksx 
djsa fd igpku ldsa fd fdl chdj esa dkSu lk inkFkZ gSS mldk 
jklk;fud lehdj.k Hkh fyf[k,A        ¼2$2½ 

 Mohan has two beakers in which ethanol and ethenoic acid were kept but he 
forgot to write their names on beakers Now what experiment he should do to 
find out that in which beaker what matter is present? write its chemical 
equation.    

iz’u Øekad 13 %& vuqdwyu vkSj iztkfrdj.k D;k gS\ izR;sd dk mnkgj.k fyf[k,A   ¼2$2½ 
 What is an adaptation and speciation? Write the example of each. 

vFkok@OR 

fldy lsy ,uhfe;k D;k gS\ mlds dkj.k fyf[k,A    ¼2$2½ 
 What is sickle cell anemia? Write its factors. 

iz’u Øekad 14 %& gekjs 'kjhj esa vuSfPNd fØ;kvksa dk lapkyu dSls gksrk gS\ mnkgj.k  
lfgr le>kb,A         ¼2$2½ 

 How involuntary actions are conducted in our body? explain with example. 

vFkok@OR 

gekjs gǹ; esa jDr dk ifjogu dSls gksrk gSA          ¼04½ 

 How blood circulation takes place in our heart? explain it. 

 iz’u Øekad 15 ls 16 rd ds iz’u nh?kZmÙkjh; iz’u gS izR;sd iz’u ij 5 ¼ikap½ 
vad fu/kkZfjr gSA izR;sd iz’u esa vkarfjd fodYi fn, x, gSA mÙkj dh vf/kdre 
'kCn lhek 100 gSA 



Instruction:- Question No.15 to 16 are Long answer type question. Each question carries 5               
marks. In each question internal choice are given. Maximum word limit for answer 
is 100 words. 

iz’u Øekad 15 %& mÙky ysal ds lEeq[k oØrk dsUæ ij fLFkr oLrq dk izfrfcac cuus dk 
fdj.k ekxZ [khapdj cus izfrfcac dh izd`fr] vkdkj o fLFkfr fyf[k,A 

  ¼2$3½ 

Vhi %& nf̀"Vckf/kr  fo|kFkhZ fp= ds LFkku ij mÙky ysal ds nks mi;ksx 
fy[ksxsaA 

Draw a ray path of image of an object placed at centre of curvature in front of 
convex lens. Write the nature of image, size and position. 
(Note : visually impaired students will write two uses of convex lens in place of 
ray diagram.)   

 vFkok@OR 

lery niZ.k ds lEeq[k j[kh oLrq dk izfrfcac cuus dk fdj.k ekxZ 
[khapdj cus izfrfcac dh izd`fr] vkdkj o fLFkfr fyf[k,A 

¼Vhi & nf̀"Vckf/kr fo|kFkhZ fp= ds LFkku ij lery niZ.k ds nks mi;ksx 
fy[ksxsaA½ 

Draw a ray path of image of an object placed in front of plane mirror. Write the 
nature of image. size and position. 

(Note : Visually impaired students will write two uses of plane mirror in place 
of ray diagram.) 

iz’u Øekad 16 %& fo|qr tfu= dk o.kZu fuEukafdr 'kh"kZdks ds varxZr dhft,A  ¼1$2$2½ 

                ¼a½ fl)kar ¼b½ ukekafdr vkjs[k  ¼c½ dk;Zfof/k 

Vhi %& n`f"Vckf/kr  fo|kFkhZ ukekafdr vkjs[k ds LFkku ij fo|qr tfu= ds 
cukoV ds fofHkUu Hkkxksa ds uke dks fy[ksxsaA 

Describe electric generator under the following heads : 
(i) Principle  (ii) Labelled sketch  (iii) Working Mechanism 
(Note : visually impaired students will write the names of various parts of 
electric generator in place of labelled sketch)  

 vFkok@OR 

nks izfrjks/k R1 o R2 ds lekukarj Øe la;kstu dk o.kZu fuEukafdr 'kh"kZdks 
ds varxZr dht,A 

¼a½ ukekafdr fo|qr ifjiFk ¼b½ iz;qDr lw= dk fuxeu 

¼Vhi & n`f"Vckf/kr fo|kFkhZ ukekafdr fo|qr ifjiFk ds LFkku ij lekukarj 
Øe la;kstu D;k gksrk gS rFkk izR;sd izfrjks/k ij foHko dk eku fy[ksaxsA½ 

Describe the parallel combination of two resistance R1 and R2 under the 
following  heads: 

(i) Labelled electric circuit (ii) Deduction of probable formula  



(Note : Visually impaired students will write What is parallel combination and 
value of potential at each resistance in place of labelled electric circuit.) 

 iz’u Øekad 17 ls 18 rd ds iz’u nh?kZmÙkjh; iz’u gS izR;sd iz’u ij 6 ¼N%½ 
vad fu/kkZfjr gSA izR;sd iz’u esa vkarfjd fodYi fn, x, gSA mÙkj dh vf/kdre 
'kCn lhek 150 gSA 

Instruction:- Question No.17 to 18 are Long answer type question. Each question carries 6               
marks. In each question internal choice are given. Maximum word limit for answer 
is 150 words. 

iz’u Øekad 17 %& ¼a½ D;k gksxk tc bl gsrq fuEufyf[kr vfHkfØ;kvksa ds larqfyr lehdj.k 
fyf[k, %&          ¼3½      

                 ¼1½ dSfY’k;e dkcksZusV dks xje djus ijA  

                 ¼2½ lksfM;e dh vkDlhtu ls fØ;k     

 ¼b½ /kkfRod vkDlkbM ls /kkrq vip;u dh jklk;fud izfØ;k le>kb,A  

             ¼3½ 

(a) Write the balanced chemical equation for the following reaction, what 
happens when,  

(i) Calcium carbonate is heated. 
(ii) Reaction of sodium with oxygen. 
(b) Explain the chemical reaction of metal reduction from metallic oxide. 

 vFkok@OR 

D;k gksxk tc bl gsrq fuEufyf[kr vfHkfØ;kvksa dks jklk;fud lehdj.k 
lfgr fyf[k, &             ¼3½ 

¼i½ ukbVªkstu dh mPp rki o nkc ij gkbMªkstu ls fØ;k djk;sA 

¼ii½ nkusnkj ftad dh lksfM;e gkbMªkDlkbM ls fØ;k djk;h tk;sA 

¼b½ fMCckcan HkksT; inkFkksZ esa fdl xSl dk mi;ksx fd;k tkrk gS vkSj 
D;ksa\           ¼3½ 
Write the balanced chemical equation for the following reaction, what 
happens when,  

 (i) Reaction of nitrogen with hydrogen at high temperature and pressure. 

 (ii) When granulated zinc reacts with sodium Hydroxide. 

(b) Which gas is used in sealed tin packed food items and why? 

iz’u Øekad 18 %& ¼a½ /kefu;ksa esa :f/kj rhozrk ls ifjogu djrk gS D;ksa\    ¼3½      
                ¼b½ efLr"d ds rhu dk;Z fyf[k,A        ¼3½  

(a) Blood circulation in arteries with force, why? 
(b) Write three functions of brain. 

vFkok@OR 

¼a½ /kweziku LokLF; ds fy;s gkfudkjd gS D;ksa\        ¼3½ 
¼b½ uj esa dksbZ rhu ¼03½ f}rh;d ySfxad y{k.k fyf[k,A    ¼3½ 
(a) Smoking is injurious to health why? 
 (b) Write any three secondary sexual characters in male. 


